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3 kg g 3
g v =20 X 30 x40 = 24000 cm?>,p = 4000 — = 4 — <D
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g UA=kB—>mghA=EmvB —vv3=10?
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Py =Py = Pg =Py +pgh_, 1

Pg =105 + 2000 x 10 x 0.25
P; = 10° + 5000 - P; = 105000 Pa

LA, = P08 — 3a x VA0

=5x10"5x 1000 X 100 —3 x 1.2 X 105 X 1000 X 100 = 5 — 3.6 = 1.4 cm?® | 12
(1 lit = 1000 cm?)
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Q=mcAB+mLz+mcAB+mLy,=1x2100x20+1x336000+1x4200x100+1x2250000=2670000J | 13

Q=Pt=mcA® -> 2100xt=0.5x4200x50 -> t=50s

14
PV PV, P;x3 2P XV,
= =2y, =251t
T, T, 300 500 5
Ty =273+27 =300K,T, =273 + 227 = 500K
-l
PV nRT o7, < PV X100 x2x1070
SR MEWRT T 1xs 16
W=-1x10°% x 5 X 1073 = =500 : Saase (LS 1) a3 > 45 0nd alol LIS PV lages 518 ol o3l -0
AU=Q+W -0=Q+W->Q=-W=500) -
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